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. Add 100 to 76 345.

2. Round 87 632 to the nearest 10.

. What number comes next in this sequence?
29,25,21,17,2

. What number is 200 less than 53 7657

5. What number is 3000 greater than 24 9657
6. Which is smaller: 32 597 or 32 9577

7. What number is 50 greater than 39 432?

. Which is greater:
78 953 or 78 5937

9. What number comes next in this sequence?

38, 43, 48,53,

. Which number is nearer 5000:
4900 or 52007
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1. What fraction of this shape

. What fraction of this shape

is shaded?

is unshaded?

3. Find 10% of 70.

. Write 3w in decimal form.

. What is 5 of 72?
. 0!

f a number is 12. What is the number?

Joan has 70 stamps.
Liz has 10% more than this.
How many stamps has Liz?

. Itis now 4.25pm.

What time will it be 40 minutes from now?
Write  as a mixed number.

How much change would | get from
€20 if | bought this hurley?
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. 16 +24+35=]?

. What is the sum of 36, 22 and 44?
From 100 take 56.

. How much greater is 131 than 997
Add 300 to 2168.

. From 8596 take 2000.

What must be added to 47 394 to make 47 5947
What is the difference between 29 327 and 29 827?
Make 24 356 bigger by 1002.

. Make 38 794 smaller by 2001.
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,Test 14 Addition and Subtraction
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124 + 256 + 100 = ?
What is the sum of 2300, 700 and 60?

From 18 900 take 4000.

What must be added to 97 352 to make 99 352?
From 47 694 take 10 000.

Find the difference between 83 497 and 83 997.
How much greater is 67 686 than 63 6867
Make 73 842 bigger by 10 002.

Make 94 763 smaller by 3001.

The population of Newtown is 14 265.

The population of Oldtown is 1500 greater than that.

What is the population of Oldtown?
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Test 15
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Revision

Round 38 586 to the nearest 10.

Round 42 647 to the nearest 100.

Round 96 584 to the nearest 1000.

What is the value of the 6 in 176 895?

Which number is greatest: 28 652, 28 256 or 28 5627
What is the sum of 11 000, 4000 and 700?

Add 24 000, 5000 and 28.

From 87 695 take 3001.

What must be added to 134 659 to make 154 6597

% One Sunday 198 576 copies of The
Sunday Dependent were sold. 4000

How many copies of The Sunday Moon
were sold?

fewer copies of The Sunday Moon were sold|





